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A1 Find the value of x 
 

  

A2 Find the value of x 
 

 

A3 Find the value of x 
 

 

A4 Find the size of each of the four 
angles 

 
B1 Find the value of x 
 

 

B2 Three angles fit exactly around 
a point. 

  The second angle is 20º more 
than the first angle. 

  The third angle is twice the size 
of the second angle. 

  Find the size of each of the three 
angles. 

B3 Find the values of x and y 
 

  

B4 Find the values of x and y 
 

 

C1 Three angles fit exactly around 
a point. 

  Two of the angles are equal. 
  The difference between the 

largest and smallest angle 
is 30º 

  Find the size of each of the three 
angles. 

  

C2 Find the values of x, y and z 
 

 

C3 Find the values of x and y 
 

 

C4 Find the values of x, y and z 
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Three angles fit exactly around a 
point. 
Two of the angles are equal. 
The difference between the largest 
and smallest angles is 30º 
Find the largest possible angle. 
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Three angles fit exactly around a 
point. 
The second angle is 20º more than the 
first angle. 
The third angle is twice the size of the 
second angle. 
Find the size of each of the three 
angles. 
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